
Y4 – Autumn – Block 1 – Step 10 – Order numbers Answers

Question Answer

1

a) Tom because his number has 4 thousands but Whitney’s and Dani’s numbers only have 
3 thousands

b) 3,052 3,200     4,050

2 2,600     2,595     2,540

3 7,500 because it has the most thousands so it must be the greatest number

4

Any number less than 6,130 using all 10 counters e.g. 6,121

Any number greater than 6,130 using all 10 counters e.g. 7,030

5

a) 625
b) 2,089
c) 6,175

6

a) Barcelona
b) New York
c) Rome

7
a) 1,750 1,780     2,304     2,600
b) 728     1,322     8,079     8,200

8
Jack has just looked at the size of the first digit and not realised that there are 2 thousands 
in 2,340 and 0 thousands in 982 so 2,340 must be greater.

9

a)
Any digit from 0, 1, 2, 3, 4, 5, 6 or 7

Any digit from 0 to 9

Either 8 or 9

b)  Missing digit could be a 7, 8 or 9 so there are three possibilities.


